Logarithms

o (3y3) = (o427)

Question 1 Solve the following exponential equations:

(@ 3**1=81 b 8°=4 ©

(@ 9% =243 (e) 4% 1= ﬁ ®

2x1_ (1Y

(g) 4 = (gz—) (h) 23—x= 8x+1

QlﬁlestionZ _ Wz:ite each of the following in logarithmic form: ‘

(@) 64=25 (b) 100 = 102 (e

(@ 3=2" (e) 5=107 @

Question 3 Evaluate the following:

(@) logy16 (b) logg 81 ()
(e) log,s 125 @

(d) logg 27

-

3x—l= _1_
27
83x—1 — 16

125 = 5°

15 = 47

logs 625

logg 32




‘Question 4 Scive the foﬂowing for the variable:

(@) logg32=x 1) log,27=3 (@) logyg 4=y

(d) log, 125=3 (e) log, 65 =2 ® log,8=3

(@ log, 8 =421- M) logym="7 @ loggyq=2
Question § Evaluat;e the following:
(@) log;, 25 + logy, 4 () logg 1000 - logy 8 () logg 12+ logg-3
(d) 1q_g4 32 +log, 2 | (e) logys 300 ~ logyg 12 ) 2logg 2+ 2logg 3

| Question 6 Solve ther followixig éth_éfions for x:

(a) logg x = logg 7+ logg 2 (b) log, x = 2log, 3 - 3log, 2

(¢) logg x+ log, 5 = log, (x+1) (d) 2logg x = logz 49

(e) logy x+logy(x+4) =5 ) logy2x + logy(x—1 = 1




Question 7

(@) 8=7

Solve the following exponential equations correct o 4 decimal places:

(B) 55=15

Cc) 2.“4‘3'!‘1 =0

(d) 3x - Gx—l

(e) 6_x+2: = lox-—7

(‘f) 3x+1 - 5x«-l

34 Logarithms (#nswszs )

|

1 (a) x=§ (b) x=§ () x=-2 ;
@ z=3% (@ x=2 ) ==L [f
©z=% ®x=0 @ z=L |
2 (a) logy64=6 () log1p100=2 |
() logs125=3 @ logg3=x |
(e) logiph==x (f) logg 15 =2« |

3 (a) 4 (®) 2 (© 4 @ 3 !
@2 ®f 4@5 @3 {
@3 @5 (@3 @ 2 /

(g) 4096 () 128 (D) 124

5 (a) 2 ®) 3 (©) 2 @ 3
(e) 1 f) 2

6 (a) x=14 ) x=§ {e) xzil
(@ ==7 (e) x=4 () x=3

7 (a) 17712 (b) 16826 (e) 2-1699
(d) 28850 (e) 38-5882 f) 53013
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